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Exercice 1

Compléter sans calculatrice :

◮1. 0,1 × 5,18 = . . . . . . . . . . . . . . . . . . . . . . .

◮2. 100 × . . . . . . . . . . . . . . . . . . . . . . . = 601

◮3. 10 × 9,84 = . . . . . . . . . . . . . . . . . . . . . . .

◮4. . . . . . . . . . . . . . . . . . . . ÷ 100 = 0,001 59

◮5. 21,1 ÷ 10 = . . . . . . . . . . . . . . . . . . . . . . .

◮6. 0,01 × . . . . . . . . . . . . . . . . . . . . . = 0,966

◮7. . . . . . . . . . . . . . . . . . . . . × 0,367 = 3 670

◮8. 83,9 ÷ 1 000 = . . . . . . . . . . . . . . . . . . . . .

◮9. 0,001 × 4,8 = . . . . . . . . . . . . . . . . . . . . . .

◮10. 0,000 1 × 23,5 = . . . . . . . . . . . . . . . . . . .

◮11. 0,825 ÷ . . . . . . . . . . . . . . = 0,000 082 5

◮12. 1 000 × 39,1 = . . . . . . . . . . . . . . . . . . . . .

Exercice 2

Compléter sans calculatrice :

◮1. 0,001 × 5,91 = . . . . . . . . . . . . . . . . . . . .

◮2. 0,1 × 7,88 = . . . . . . . . . . . . . . . . . . . . . . .

◮3. 100 × 8,69 = . . . . . . . . . . . . . . . . . . . . . .

◮4. 52,1 ÷ . . . . . . . . . . . . . . . . . . = 0,005 21

◮5. 3,32 ÷ . . . . . . . . . . . . . . . . . . . = 0,033 2

◮6. 10 × 0,368 = . . . . . . . . . . . . . . . . . . . . . .

◮7. 0,01 × 9,75 = . . . . . . . . . . . . . . . . . . . . . .

◮8. 0,321 ÷ 1 000 = . . . . . . . . . . . . . . . . . . .

◮9. 1 000 × . . . . . . . . . . . . . . . . . . . . = 8 450

◮10. 10 000 × 6,75 = . . . . . . . . . . . . . . . . . . .

◮11. 0,000 1 × 0,679 = . . . . . . . . . . . . . . . . . .

◮12. 0,625 ÷ 10 = . . . . . . . . . . . . . . . . . . . . . .

Exercice 3

Compléter sans calculatrice :

◮1. 10 000 × . . . . . . . . . . . . . . . . . . = 16 400

◮2. 0,398 ÷ . . . . . . . . . . . . . . . . . = 0,003 98

◮3. 4,31 ÷ 1 000 = . . . . . . . . . . . . . . . . . . . . .

◮4. 1 000 × 0,16 = . . . . . . . . . . . . . . . . . . . . .

◮5. 17,7 ÷ 10 000 = . . . . . . . . . . . . . . . . . . .

◮6. 3,64 ÷ . . . . . . . . . . . . . . . . . . . . . = 0,364

◮7. 0,001 × 0,925 = . . . . . . . . . . . . . . . . . . .

◮8. . . . . . . . . . . . . . . . . . . . . . . × 8,47 = 84,7

◮9. . . . . . . . . . . . . . . . . . . . . . . . × 4,77 = 477

◮10. 0,01 × 12,7 = . . . . . . . . . . . . . . . . . . . . . .

◮11. 0,000 1 × 32,5 = . . . . . . . . . . . . . . . . . . .

◮12. 0,1 × 64,8 = . . . . . . . . . . . . . . . . . . . . . . .

Exercice 4

Compléter sans calculatrice :

◮1. 0,182 ÷ . . . . . . . . . . . . . . = 0,000 018 2

◮2. 0,69 ÷ 10 = . . . . . . . . . . . . . . . . . . . . . . .

◮3. 1 000 × 0,654 = . . . . . . . . . . . . . . . . . . .

◮4. . . . . . . . . . . . . . . . . . × 6,78 = 0,000 678

◮5. . . . . . . . . . . . . . . . . . . . . . . . × 2,79 = 279

◮6. 8,83 ÷ . . . . . . . . . . . . . . . . . . = 0,008 83

◮7. 0,686 ÷ 100 = . . . . . . . . . . . . . . . . . . . . .

◮8. 10 000 × . . . . . . . . . . . . . . . . . = 697 000

◮9. 10 × 6,98 = . . . . . . . . . . . . . . . . . . . . . . .

◮10. 0,1 × . . . . . . . . . . . . . . . . . . . . . . . = 2,17

◮11. 0,01 × 0,775 = . . . . . . . . . . . . . . . . . . . .

◮12. 0,001 × 0,146 = . . . . . . . . . . . . . . . . . . .
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